DUSS Bohr- und MeiBelhammer
Ersatzteilliste PX78

Ident-Nr. Benennung Bestell-Nr. Stuck
25180  Manschette PX78-4 1
53034  Sprengring PX78-5 1
25181  Futterhilse PX78-6 1
53051 Runddrahtsprengring PX78-7 1
83483  Futterring PX78-8 1
24205  Feder PX78-9 1
24206  Passscheibe PX78-10 1
51154  Zylinderschraube M6x75 PX78-11 4
54009 Kupferdichtring M6 PX78-12 4
51090  Senkschraube M5x8 PX78-13 1
24078  Rastenfeder PX78-14 1
55047  Kugel @4mm PX78-15 1
82155 Bohrkopf PX78-16 1
21029  Bohrkopfdichtung PX78-17 1
54145  O-Ring 31x1,5 PX78-19 2
83774  Gleitlager PX78-20 1
25285  Oberschale PX78-21 1
25286  Unterschale PX78-22 1
51162  Linsenschraube 3,5x30 PX78-23 2
51163  Linsenschraube M4x12 PX78-24 4
83775  Schaltklaue PX78-25 1
25195 Dampfring PX78-26 1
83482  Futterrolle PX78-27 2
83776  Bohrspindel PX78-28 1
25296  Dopperdichtung PX78-29 1
83778  Lagerring PX78-38 1
54120  O-Ring 49x3,5 PX78-39 1
24011  Kolbenbolzen PX78-48 1
24059  Federring PX78-49 2
51028  Zylinderschraube M5x20 PX78-54 6
54000  Kupferdichtring M5 PX78-55 6
24347  Zylindergeh&usedichtung PX78-56 1
55093  Zylinderlager PX78-60 2
83044  Kurbel PX78-64 1
55017 Rillenkugellager PX78-65 1
83442  Kurbelrad PX78-66 1
25279  Liftungseinsatz rechts PX78-67 1
25280  Luftungseinsatz links PX78-68 1
83773  Motorgehduse PX78-69 1
25290  Déampfgeh., Zylgeh. Unten PX78-70 1
83771  Federblech PX78-76 1
58001 Tellerfeder PX78-77 1
58016  Passscheibe PX78-78 2
51047 Flachsenkkopfschraube 4x27 PX78-79 1
25289  Dampfgeh., Zylgeh. Oben PX78-80 1
24340 Druckfeder PX78-81 2

12.01.2015



DUSS

Bohr- und MeiBelhammer

Ersatzteilliste PX78
Ident-Nr. Benennung Bestell-Nr. Stuck
51140  U-Scheibe M5 PX78-82 4
51005  Zylinderschraube M5x65 PX78-83 2
25288  Déampfgeh., Motgeh. Unten PX78-84 1
83772  Abstandsbuchse Motorgehduse PX78-85 2
24297  Druckfeder PX78-86 2
25287  Déampfgeh., Motgeh. Oben PX78-87 1
83792  Déampfgeh., Motgeh., komplett PX78-87k 0
58002  Tellerfeder PX78-88 1
51131 Senkkopfschraube 4x12 PX78-89 1
25218  Schraubhandgriff PX78-90 1
25274  Schalterhandgriff PX78-91 1
24308 Einlegemutter, M12 PX78-92 1
81063  Drehwiderstand PX78-93 1
24081  Stellradfeder PX78-94 1
51050  Linsenkopfschraube 4x20 PX78-95 3
51008 Linsenkopfschraube 4x14 PX78-96 2
25004  Kabelklemme PX78-97 1
51330  Zylinderschraube M5x60 PX78-98 2
25278  Diodenhalter PX78-99 1
52226  Schalter PK600 PX78-100 1
25009  Kabelschutzschlauch PX78-101 1
52001 Kabel mit Stecker PX78-102 1
22156  Kohlebdrste PX78-105 1
22196 Kohleblrste mit Meldelitze, 230V PX78-106 1
81239 Kohlehalter PX78-107 2
51046  Linsenkopfschraube 3x10 PX78-108 4
51097  Kerbstift PX78-110 4
55146  Nadelrolle 5x13,8 PX78-111 1
83782  Schaltwelle PX78-112 1
54033  O-Ring 15x1,5 PX78-113 1
53017  Sicherungsscheibe M4 PX78-115 2
51011 Zylinderschraube M4x12 PX78-116 2
54058  V-Ring PX78-117 1
54028  O-Ring 26x2 PX78-118 1
83068  V-Ringscheibe PX78-119 1
55013  Rillenkugellager PX78-120 1
53004  Sicherungsring PX78-121 1
58006  Passscheibe PX78-122 1
55010  Rillenkugellager PX78-124 1
82025  Lagergummi PX78-125 1
51045  Linsenkopfschraube 4x48 PX78-126 2
25091 Isoliergehduse PX78-128 1
25300  Motordeckel PX78-129 1
51062  Linsenschraube M4x20 PX78-130 4
40010 Isolierschlauch PX78-131 1
27143  Selbstklebeschild RVA PX78-132 1

12.01.2015

2/3



DUSS

Bohr- und MeiBelhammer

Ersatzteilliste PX78
Ident-Nr. Benennung Bestell-Nr. Stuck
54131 O-Ring 8x3 PX78-133 1
83945  Abstandsb. Zylgeh. m. Flihrung PX78-134 2
24414  Druckfeder PX78-135 2
25214  Schraubhandgriff PX78-201 1
88116  Klemmring mit Spannbacken PX78-202 1
24084  Einlegemutter M12 PX78-203 1
54166  Radial-Wellendichtring PX78-204 2
83785  Dopper PX78-205 1
83786 Dampfring PX78-206 1
54109  O-Ring 16x8 PX78-207 1
83495  Dampfscheibe PX78-208 1
83477  Anschlagsegment PX78-209 2
83777  Sicherheitskupplung PX78-210 1
54067  O-Ring 29,2x3 PX78-211 1
83803  Kupplungsfeder PX78-212 1
24101  Haltestift PX78-213 1
55071  Nadelrolle 3x11,8 PX78-214 4
83073  Zylinder PX78-215 1
53046  Sprengring PX78-216 2
83410  Dampfscheibe PX78-217 2
83055  Schlager PX78-218 1
83242 Kolbenring PX78-219 2
83038  Kolben PX78-220 1
83399  Kolben, komplett PX78-220k 0
83802  Pleuel PX78-221 1
55074  Pleuellager PX78-222 1
55057  Nadelhilse PX78-223 1
82156  Zylindergeh&use PX78-224 1
83779  Kegelritzel PX78-225 1
83780  Kegelritzelrad PX78-226 1
55142  Rillenkugellager PX78-227 1
55036 Rillenkugellager PX78-228 1
83810  Vorgelege PX78-229 1
55019 Rillenkugellager PX78-230 1
24348 Druckfeder PX78-231 8
83781 Federmasse PX78-232 1
83791 Dampfgeh., Zylgeh., komplett PX78-233k 0
27140  DUSS-Aufkleber PX78-234 2
81308  Elektronik mit Serviceanzeige PX78-235 1
24346  Typenschild PX78-236 1
25136  Umschalthebel PX78-237 1
82159  Umschalthebel , komplett PX78-237k 0
81310  Anker 230V PX78-238 1
81237  Feldpaket, 230V PX78-239 1
54017  O-Ring 14x4 PX78-240 1

12.01.2015

3/3



130&%_1 12/11



